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Question Bank

1. Find the equation of the circle whose centre

is the points (2,-3) and radius 5 units.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4fHOiChWQ73g

° Watch Video Solution

2. Find the equation of the circle which has
A(1,3) and B(4,5) as the opposite ends of a

diameter.

° Watch Video Solution

3. The parabola y* = 4az passes through the
point (2,-6). Find the length of the latus

rectum.
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https://dl.doubtnut.com/l/_4fHOiChWQ73g
https://dl.doubtnut.com/l/_zAGK3j0tYgN7
https://dl.doubtnut.com/l/_KqZWOmKd7yMz

& Watch Video Solution I

4. Find whether (4,2) is on the exterior,
interior or on the circle whose centre is (-3,1)

and radius /5.

° Watch Video Solution

5. Do the points (-2,5),(3,-4) lie on the same or
opposite sides of the circle

322 + 3y? — 5z — 93 = 0?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_KqZWOmKd7yMz
https://dl.doubtnut.com/l/_9xFu8PBuYmSe
https://dl.doubtnut.com/l/_mibBc4sbM18f

6. One end of a diameter of the circle
22+ 9> —3z+5y—4=20is (2]). Find the

coordinates of the other end.

° Watch Video Solution

7. Find the focus, directrix and eccentricity of

the parabola y* = 2./3z.

o Watch Video Solution



https://dl.doubtnut.com/l/_mibBc4sbM18f
https://dl.doubtnut.com/l/_lH9UYeRN7Cw4
https://dl.doubtnut.com/l/_pdYtNnxq8fnN
https://dl.doubtnut.com/l/_eLxhqrjfgiqz

8.In each of the following find the coordinates
of the focus , axis of the parabola , the
equation of the directrix and the length of the
latus rectum.

r? = — 16y

° Watch Video Solution

9. Find the locus of the point P, sum of whose
distance from the points F;(2,0) and

F5( — 2, 0) is constant and equal to 6.
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https://dl.doubtnut.com/l/_eLxhqrjfgiqz
https://dl.doubtnut.com/l/_qiB6sRPmP8zh

| ¥ Watch Video Solution J

10. In each of the Find the coordinates of the
foci, the vertices, the length of major axis, the
minor axis, the eccentricity and the length of

the latus rectum of the ellipse.

4z? + 9y = 36

° Watch Video Solution

3
11. Find the equation of the ellipse with e = 1

, foci on y-axis, centre at the origin and


https://dl.doubtnut.com/l/_qiB6sRPmP8zh
https://dl.doubtnut.com/l/_wnDB83ZiZuFJ
https://dl.doubtnut.com/l/_zdT1U6bwN2H0

passing through (6,4).

o Watch Video Solution

12. A rod PQ of length 16 units moves with its
ends P and Q always touching x-axis and y-axis
respectively. Determine the equation of the
locus of a point K on PQ which is always at a

distance of 4 unit from P.

o Watch Video Solution



https://dl.doubtnut.com/l/_zdT1U6bwN2H0
https://dl.doubtnut.com/l/_mijjNvjKVV36

13. Find the locus of the point P, sum of whose
distances from the pointsF;( —2,1) and

F5( — 5, 5) is a constant equal to 5.

o Watch Video Solution

14. Find the equation of a parabola whose

focus is (1,2) and directrix is the line x+y=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_DIQ1MPRZyKn1
https://dl.doubtnut.com/l/_gnOjW1k9OIeU

15. Find the equation of an ellipse with
1
eccentricity > focus F(1,1) and the line

x —y+ 3 = 0 as directrix.

o Watch Video Solution

16. The foci of a hyperbola coincide with the

2

: : y?
f f the ell — 4+ — =
oci o e ellipse 5% 9 = 1. Find the

equation of the hyperbola if its eccentricity is

2.

o Watch Video Solution



https://dl.doubtnut.com/l/_MpJZyJ4HNGBc
https://dl.doubtnut.com/l/_fRtYGDmCoJPr

17. A man running on a race course notes that
the sum of his distances from the two flag
posts is always 10 m and the distance between
the flag posts is 8 m. Find the equation of the

path traced by the man.

o Watch Video Solution

18. An arch is in the from of a semi - ellipse. It

is 8 m wide and 2 m high at the centre. Find


https://dl.doubtnut.com/l/_fRtYGDmCoJPr
https://dl.doubtnut.com/l/_SMkzcvCmn5LP
https://dl.doubtnut.com/l/_WrUh3s9uXpw4

the height of the arch at a point 1.5 m from

one end.

° Watch Video Solution

19. A parabolic reflector is 40 cm in diameter
and 10 cm deep. Find the position of the focus

of the reflector.

° Watch Video Solution



https://dl.doubtnut.com/l/_WrUh3s9uXpw4
https://dl.doubtnut.com/l/_7MYL0yvZlpUh

20. Find the equation of a circle which passes
through the origin and makes intercepts of 2
units and 4 units on x-axis and y-axis

respectively.

o Watch Video Solution

21. Find the equation to the circle which
passes through the point (2,-2),(3,4) and has
its centre on the line 2x+2y=7. Find the centre

and radius.
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https://dl.doubtnut.com/l/_AgMWhgaNmVnv
https://dl.doubtnut.com/l/_yl8dtnVQ9qhH

| ¥ Watch Video Solution |

22. Find the equation of a circle concentric
with the circle 2z + 2y — 6z + 8y +1=10

and of double its area.

o Watch Video Solution

23. Find the points of intersection (if any) of
the line x+2y-5=0 and the circle x"2+y"2=25.In
case the line cuts the circle, find the length of

the chord intercepted.


https://dl.doubtnut.com/l/_yl8dtnVQ9qhH
https://dl.doubtnut.com/l/_xc18hRwY7Qon
https://dl.doubtnut.com/l/_ulG4HPfF296d

° Watch Video Solution

24. Find the length of the chord intercepted by
the circle z° + y*> — 6z + 8y — 5 = 0 on the

line 2x-y=5.

° Watch Video Solution

25. Find the equations of circles which touch
the axes and whose centres lie on the line x-

2y=3

| e |


https://dl.doubtnut.com/l/_ulG4HPfF296d
https://dl.doubtnut.com/l/_CnC69E7mlOK6
https://dl.doubtnut.com/l/_FZ5DGZW6nhB8

& Watch Video Solution
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